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THIRD SEMESTER M.A. DEGREE EXAMINATION, DECEMBER 2017
(CUCSS)
Economics
EC03C10—GROWTH AND DEVELOPMENT
(2015 Admissions)
Time : Three Hours Maximum : 36 Weightage
Part A

Answer all questions.
Each bunch of four questions carries a weightage of 1.

I. 1. According to W. W. Rostow, first stage of development is :
(a) High mass consumption stage.
(b) Take-off stage.
(c) Traditional society.
(d) Pre-traditional society.
2. The originator of Big Push Theory was

(a) Arthur Lewis. (b) P.N. Rosenstein Rodan.
(c) Ragnar Nurkse. (d) Hirschman.
3. The concept of technological dualism has been put forward by
(a) B. Higgins. (b) J. H. Boeke.
(c) A.Lewis. (d) R. Rodan.

4. According to Harrod-Domar Growth Model, growth is directly related to

(a) K/O ratio and inversely related to savings.
(b) Savings and inversely related to K/O ratio.
(c) Savings and K/O ratio.
(d) Savings and K/O ratio directly.

II. 5. The theory of circular and cumulative causation was given by
(a) G. Myrdal, (b) J. A. Schumpeter.
(c) R.Nurkse, (d) W.W. Rostow.
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Which one of the following is an indicator of PQLI :

(a) Life expectancy at birth. (b) Gross enrolment ratio.

(¢) Infant mortality rate. (d) Real GDP Per Capita.
HDI is calculated using the formula.

(a)  Actual Value- Max. Value/Max. Value- Min Value.

(b)  Max Value- Min. Value/ Actual Value- Min Value.

(¢) Min. Value- Actual Value/ Max. Value- Min. Value,

(d)  Actual Value- Min. Value/ Max. Value- Min. Value.
Kyoto Protocol was adopted,

(a) To fight global warming by reducing greenhouse gases.

(b)  To protect the ozone layer.

(¢)  To find out alternative sources to replace the use of fossil fuels.

C 31487

(d) - To ensure the preservation and enhancement of the human environment.

Innovation as the key of development is associated with the name of
(a) Hirschman. (b) Nurkse.

(c) Rosenstein Rodan. (d) Schumpeter,

To break the vicious circle on the demand side of capital, Nurkse has pleaded for

(a) Balanced growth. (b) Unbalanced growth.
(c) Agricultural growth. (d) Industrial growth,

Circular and cumulative causation is associated with :

(a) Fei-Ranis. (b) Lewis.

() Myrdal. (d) Joan Robinson.
Warranted rate of growth is

(a) Unattainable growth rate.

(b)  Growth of output in a given period of time.

(¢c) Full employment growth rate.

(d) Full capacity growth rate.

(12 x 14 = 3 weightage)
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Part B

Very Short Answer Type Questions.
Answer any five questions.
Each question carries a weightage of 1.

What do you mean by convergence ?
Define dualism.

What is Lorenz Curve ?

What do you mean by limits to growth ?
Define Human Poverty Index.

What is vicious circle of poverty ?

What is spread effect ?

What is SOC ?

Part C

Short Answer Type Questions.
Answer any eight questions.
Each question carries a weightage of 2.

Explain Fei-Ranis view on economic development.
Explain the centre-periphery thesis.

Explain the dependency theory of economic development.
Development as freedom. Explain.

Explain the features of new endogenous growth theory.
Explain the indicators of economic development.
Environment Vs Development. Comment.

Write a note on HPI and GDI.

Examine the Joan Robinson model of economic growth.
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(5 x 1 =5 weightage)

Explain briefly Brudtland commission approach to economic development.

Explain Vinatage model.

(8 x 2 = 16 weightage)

Turn over



33.
34.
35.
36.

1

Part 1)

Lssay questions
Answer any three questions
Each question carries o weightage of 4.

Discuss Solow mode] of long run growth,
Critically evaluate the Marxian model of cconomic growth.
Explain Myrdal’s theory of circular and cumulative

Explain Todaro Model of migration.

causation.

Comment on the Plan models in India.
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(3 x 4 = 12 weightage)
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